Oefeningen P 68

Oefening 1

Gegeven:


c1 = 25€/stuk

c2 = 22€/stuk


P = 10000€/jaar


f2 = 50€/serie


f1 = 5€/bestelling


D = 2500€/jaar


h = 2,5€/stuk
( = h1 = h2 )

Gevraagd:


Bestellen of produceren?

Oplossing:


We bereken C1* en C2* (bestellen & produceren)


C1* = (2*D*f1*h1)^(1/2) + c1*D


Formule 4.6




= 



C2* = (2*D*f2*h2*(1-(D/P))^(1/2) + c2*D

Formule 4.10



= 

Oefening 2


T* = ( ( 2* (f1 + f2 + f3 ) ) / ( ( h1*D1*(1-(D1/P1))) + ( h2*D2*(1-(D2/P2))) + ( h3*D3*(1-(D3/P3))) ) ) ^(1/2)



f1 = 150, f2 = 200, f3 = 400



h1 = 0.5 , D1 = 20000, P1 = 80000


h2 = 1 , D2 = 10000, P2 = 50000



h3 = 1.5 , D3 = 40000, P3 = 80000




= 0,1815 (* 365) = 66,24 = 67 dagen




q1 = T* D1 = 0,1815 * 20000 = 3630




q2 = T* D2 = 0,1815 * 10000 = 1815




q3 = T* D3 = 0,1815 * 40000 = 7260

